
Equation S1:  

 

Schao1=Sobs+
n1(n1-1)

2(n2+1)
 

Where Schaol is the estimated number of OTU, Sobs is the number of OTU from actual observation, 

n1 is the number of OTU with only one sequence (i.e. singletons), n2 is the number of OTU with 

two sequences (i.e. doubletons). 

 

Equations S2,S3,S4,S5: 
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Where ni is the number of OTU with i sequences, Srare is the number of OTU with or less that 

“abund” sequences, Sabund is the number of OTU more than “abund” sequences, abund is the 

threshold of dominate OTU and default to be 10.  

 

Equation S6:  

 

Dsimpson=
∑ ni(ni-1)
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Where Sobs is the number of OTU from actual observation, ni is the number of sequences of i- th 

OTU, N is the number of all sequences.  

 


